
Version RF/2 

 

 

 

Page 1 of 4 

  

 

EGT2: IIA 

ENGINEERING TRIPOS   PART IIA 

__________________________________________________________________ 
 

Thursday 28 April 2016  9:30 to 11:00 

__________________________________________________________________ 

 

 Module 3E3 

 

 MODELLING RISK 

 

 

 Answer not more than two questions. 

 

 All questions carry the same number of marks. 

 

The approximate percentage of marks allocated to each part of a question is 

indicated in the right margin. 

 

Write your candidate number not your name on the cover sheet. 

 

STATIONARY REQUIREMENTS 

Single-sided script paper 

 

SPECIAL REQUIREMENTS TO BE SUPPLIED FOR THIS EXAM 

CUED approved calculator allowed 

Attachment: 3E3 Modelling Risk data sheet (3 pages). 

 

10 minutes reading time is allowed for this paper. 

 

You may not start to read the questions printed on the subsequent 

pages of this question paper until instructed to do so. 
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1     (a) A store is selling television. The demand per week and probability of 

demand are as follows:  

 

Demand per week (television) 0 1 2 3 4 

Probability 0.15 0.2 0.35 0.25 0.05 

 

Unmet demand is lost. The store uses a periodic (s, S) policy: at the end of each 

weekend, it places an order for delivery at the beginning of the following week if the 

inventory level drops below 3 televisions (s = 3) and the new replenishment always 

brings the stock back to 5 televisions (S = 5). 

 

 

(i) Express the situation as a Markov chain and specify the corresponding 

transition matrix whose states are numbers of televisions at the beginning of the 

week.  [15%] 

 

(ii) Suppose that the week starts with 4 televisions. Determine the probability 

that an order will be placed at the end of two weeks. [15%] 

 

(iii) Determine the steady-state probability distribution. [15%] 

            

(iv) If the fixed cost of placing an order is £10, the holding cost per television 

per week is £0.5, and the penalty cost per unit shortage per week is £2, determine 

the expected cost per week. [15%]                                 

 

(b)  Cambridge Manufacturing produces two products. The daily capacity of the 

manufacturing process is 430 minutes. Product 1 requires 2 minutes per unit, and 

product 2 requires 1 minute per unit. The daily demand for product 1 is equal to infinity, 

and the maximum daily demand for product 2 is 230 units. The unit profit of product 1 

is £2 and the unit profit of product 2 is £5. 

 

(i) Define relevant parameters, variables and functions and formulate the 

optimality equations for the dynamic programming model in which stage n 

corresponds to product n. [15%] 

 

(ii) Find the optimal solution for the dynamic programming model.  [15%] 

 

(c) Define the continuous (s, S) inventory policy and its relationship with the 

newsvendor problem. [10%]  
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2     (a)  Farmer Johns can plant either corn or wheat. The probabilities that the next 

harvest’s prices will go up, stay the same, or go down are 0.25, 0.30, and 0.45, 

respectively. If prices go up, the corn crop will net £30,000 and the wheat crop will net 

£10,000. If prices remain unchanged, Johns will break even. However, if  prices go 

down, the corn and wheat crops will make losses of £35,000 and £5,000, respectively.  

Farmer Johns has the additional option of using the land as a grazing range, in which 

case a payoff of £7,500 is guaranteed. 

 

Farmer Johns has decided to secure additional information from a broker regarding the 

degree of stability of future prices before Johns makes his decisions. The broker’s 

assessment of ‘‘favourable’’ and ‘‘unfavourable’’ is described by the following 

conditional probabilities: P{a1|s1}=0.85, P{a1|s2}=0.50, P{a1|s3}=0.15, P{a2|s1}=0.15, 

P{a2|s2}=0.50 and P{a2|s3}=0.85, where a1 and a2 represent the ‘‘favourable’’ and 

‘‘unfavourable’’ assessments, and s1, s2 and s3 represent ‘‘up’’, ‘‘same’’ and ‘‘down’’ 

changes in the future prices, respectively.   

  

(i)  Construct a decision tree for Farmer Johns. [15%]                                                                                      

 

(ii)  Help Farmer Johns to find the optimal decisions with detailed calculations. [20%]  

                                                                                                                            

(b)  Consider a queue model with a single server, where only one customer is allowed 

in the system. Customers who arrive and find the facility busy never return. Assume 

that the arrival distribution is Poisson with mean of λ and the service time is exponential 

with the mean service rate of μ. 

 

(i)  Set up the transition diagram, and determine the balance equations. [15%]  

 

(ii) Determine the steady-state probabilities. [5%] 

 

(iii) Determine the average number of customers in the system, the average 

queue length, the average waiting time in the system, the average waiting time in 

the queue, and the arrival rate for the customers who are served in the system. [15%]                                                       

                                              

(c) Consider a Markov chain with the following transition matrix: 

 

 

 

 

 

(i)  Define the concept of classes and find all classes for the Markov Chain. [10%]  

 

(ii) Define the period for a state and derive the period for all states of the 

Markov Chain. [10%] 

 

(iii)  Define the expected first passage time and describe its relationship with the 

steady-state probability distribution. [10%] 
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3     (a) Consider a one-period newsvendor problem for which the demand D is 

stochastic with a continuous cumulative distribution F. The unit order cost for the 

product is £c and the unit revenue for a sold product is £r. Assume there is no penalty 

for shortages and there is no salvage value for unsold products.   

 

(i) Mathematically, develop the optimisation problem for the newsvendor 

problem. [10%]  

 

(ii) Derive the optimal solution for the newsvendor problem. [15%] 

   

(b) With regard to linear regression theory: 

 

(i)  Consider a multiple regression problem. In words and mathematically, 

define the correlation coefficient and the R-square statistic. In words, define the 

coefficient/ slope for an independent variable. [15%] 

 

(ii) For a simple regression problem, discuss the relationships among the 

correlation coefficient, the R-square statistic and the coefficient/slope for an 

independent variable.  [10%] 

 

(iii) Discuss how you would assess performance of a multiple regression 

equation. [15%] 

 

(c)  Mathematically define Winter’s additive exponential smoothing method and 

compare it with Winter’s multiplicative exponential smoothing method. [10%] 

 

(d) Define and discuss the concept of market portfolio. [10%] 
 

(e) Define and discuss the Capital Asset Pricing Model (CAPM). [15%]      

                                                     

 

 

END OF PAPER 
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EGT2: IIA 

ENGINEERING TRIPOS   PART IIA 

xxx xxx xxx xxx, Module 3E3, Questions 1-3. 

 
SPECIAL DATA SHEET  

Standard errors 

 

where STEM represents the standard error for the sample mean and it can be used for constructing confidence intervals 

and prediction intervals in regression analysis. 

Covariance, Correlation and Regression 

 

Consider data pairs (X1, Y1), (X2, Y2), …, (Xn, Yn). 

Let mX and mY denote the respective means of the X and Y data. 

Let sX and sY denote the respective standard deviations of the X and Y data. 

Covariance between X and Y is given by 

 

 

 

The correlation coefficient between X and Y is given by  

 

The line of best fit is given by 

Variance of a portfolio 

 

Consider three random variables x, y and z with means mx , my , and mz , respectively; variances Var(x), Var(y), and 

Var(z), respectively; and covariance between x and y, for example, given by the formula above. Given any numbers x , 

y , z , let  v = x x + y y + z z. Then the variance of v  is given by 
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Time Series Forecasting (Winters’ multiplicative smoothing method) 

 

 

 

 

 

Markov Chains (calculate probabilities for first passage time and expected first passage times) 

 

 

 

 

 

Queueing Theory (Poisson distribution, exponential distribution, performance metrics for the M/M/s queue, the 

M/M/1 queue is a special case of the M/M/s queue) 

 

 

cktttkt

ct

t

t
t

tttt

tt

ct

t
t

SkTEF

S
E

X
S

TEET

TE
S

X
E



















)(

)1(

)1()(

))(1(

11

11







.)1(...)1()(

)1(

 

)1()1()(

jjij

n

jjij

n

ijij

ijij

PnfPfPnf

Pf









.,)(1)( iPHEHE
jk

ikkjij  


.

!

)/(

!

)/(

1

0
)/()!1(

)/(

!

)/(

0
!

)/(

1

0

2

1

0

0

0

p

p

s

s

sn

p

ss
L

snifp
ss

snifp
n

s

n

sn

s

q

sn

n

n

n











































 

























.0,1)(

,...1,0,
!

)(
)(









tetXP

k
k

et
kXP

t

tk







Version RF/2 

Page 3 of 3 

 

 
Standard Normal Distribution Table  

(Areas under the standard normal curve beyond z*, i.e., shaded area) 

 

 


